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On sequential sample test

GUAN Yu
(Department of Basic Sciences Zhejiang Forestty Colleges Lin an 311300 Zhejiang, China)

Abstract: Using sequential pobability ratio test — n1 (0s e m2 (1, ¢12)s =5 nx (k= 1, ¢ix)s -+ design
an ameliorate sequential test Gif ¢1,<C s, assume c1,= ci,5 if cif =5, assume ¢, = s): n1 (O cy” ),
ny (yen™)s -ng (s—1,8). If p << pos average sample number of ameliorate sepuential test and sequential

pwobability ratio test is proved little deference, but the test time is less.
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